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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the 2019
Certificate of Secondary Education Examinations (CSEE) report on the
performance of candidates in the Music subject. The report provides feedback to
the candidates, teachers, policy makers and other stakeholders on how the
candidates responded to the questions.

The report shows the factors for the candidates' good, average and poor
performance by using statistical data on the candidate’s scores for individual
question and the candidates’ responses. Besides that, sampled extracts from the
candidates’ scripts have been inserting to illustrate the quality of the responses.

The council expects that the feedback provided and the suggested
recommendations in the conclusion report of this report will enable various
stakeholders responsible for education to take actions in order to enhance the
performance of the students in Music in the future examination.

Finally, the council would like to thank all those who were involved in the
preparation and the analysis of the data used in this reports.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0 INTRODUCTION

The report analyses the performance of Music subject for the Certificate of
Secondary Education Examination (CSEE) of November 2019. The
examination covered the Music syllabus of 2005 and followed the
examination format of 2019.

There were 10 questions which were distributed in three sections, namely A,
B and C. The candidates were required to answer all questions in section A
and B, and only two out of three questions in section C. Therefore, the
candidates were required to answer nine (9) questions that weigh 100 marks in
total.

This report shows how the candidates performed in each question. The
strengths and weaknesses observed their answers have been presented in this
report. The report also provides the percentage of scores in each group. The
conclusion and recommendations based on the analysis are clearly provided at
the end. The extracts of candidates’ answers have attached in appropriate
questions to illustrate the respective cases.

Furthermore, the students' performance per topic grouped into three categories
based on the percentage attained. The performance from 65 to 100 percent is
considered as good, that from 30 to 64 percent is considered as average and
weak performance is from 0 to 29 percent. These grouping presented in the
appendix by colours in which green represents good performance, yellow
represents average and red signifies poor or weak performance.

The candidates who sat for the 2019 Certificate of Secondary Education
Examination (CSEE) in Music examination were 215 out of which 59
(27.44%) passed while in 2018 a total of 68 sat for the same examination, out
of which 27 (39.71%) passed. This indicates that the performance of the
candidates has declined by 12.27 percent.

GRADES PASSED
SEX A B C D F NO | %
M 0 0 9 35 71 44 38.26
F 0 0 4 11 85 15 15.00
TOTAL 0 0 13 46 156 59 27.44




2.0 ANALYSIS OF CANDIDATES’ RESPONSES IN EACH QUESTION
2.1 Section A: Objective Questions

2.1.1 Question 1: Multiple Choice Items

The question consisted of 15 multiple-choice items which were extracted
from the sub-topics of Musical Terms, Musical Signs, Reading and Writing
Music with Accidentals, Classification of Musical Instruments, Rhythms
and Simple Melodies, Cadence, Keys and Scales. The candidates were
required to choose the correct answer from the given. A total of 215
(100%) candidates did the question.

The analysis of candidates’ performance shows that 123 (57.2%)
candidates scored from O to 4 indicating a poor performance, while 83
(38.6%) candidates scored from 5 to 9 marks which is an average
performance and 9 (4.2%) scored from 10 to 14 marks which is a good
performance. The general performance in this item can be categorized as
average because 42.8 % of candidates were able to score from 5 to14 marks
as illustrated in Figure 1.
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Figure 1: Distribution of Candidates’ Scores in Question 1

Item (i) required the candidates to identify the sign, which instructs the
music performer to repeat a piece from the beginning up to a sign. The
correct answer was C, Da cap. The candidates who opted for this correct
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answer knew the clear meaning of the term that means repeat from the
beginning. Those who chose A, Al fine were not aware that means to the
end. The candidates who chose B, Dal segno failed to recognize the
difference that exists between Al fine and Dal Segno. Dal segno, means
repeat from the sign. The candidates who opted for the response D, Dal fine
lacked knowledge to identify that there is no such two words used in music
performance. Dal or Da in music means ‘from’ and Fine merely means the
end. The Candidates who opted for E, Da coda failed to distinguish Da
coda from Da capo. In music theory, the word Coda means a more
independent passage at the end of a composition.

In item (ii) the candidates were required to identify the function of a dotted
note in music. The correct answer was D, Increasing value of a note by a
half of its original value. Candidates who chose the right answer had an
adequate knowledge that a dot (.) adds a half-value of the origin note.
Those who opted for A, Increasing value note by a half of the quarter of its
original value were not aware that a dot means a half of the previous note.
The candidates who chose B, Increasing value note by a half of semitones
of its original value failed to recognize that semitones are half distances in
pitch from one note to another. It is not associated with increasing value of
a musical note. Those who opted for C, Increasing value of a note by a half
of its mining value failed to understand that the word mining value related
to music and that it was just a distractor.

Item (iii) required the candidates to identify the group of instruments made
of wood or gourds. The candidates who chose the correct answer E,
Chordophones were knowledgeable on the subject matter that is stringed
musical instruments made of wood with strings. The candidates who opted
for A, Aerophones failed to understand that aerophones is the group of
instruments which are made of bamboo or pipes. Those who opted for B
Membranophones did not know that membranophones is the group of
musical instruments made by the animal skins. The candidates who chose
for C, Xylophones failed to understand that xylophones are the musical
instruments categorized in idiophones instruments.

Item (iv) required the candidates to identify the name of the note with the
value of eight quavers. The candidates who opted for the correct answer A,
Whole note had an adequate knowledge on the sub-topic of note values.
The candidates who chose B, Half note were not aware of the value of
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notes in music because a half note is the note with the value of four quaver
notes. Those who opted for C, Quarter note failed to understand that a
quarter note is a note with one beat. Quarter note is the note with the value
of two quaver notes not eight quavers. Those who opted for D Eighth note
did not know that an eighth note is the note with the value of one quaver,
while a whole note has the value of eight quavers.

In item (v), candidates were required to identify the term which will be
used when singing a song in slow tempo. The correct answer was C Lento.
The candidates who chose this response understood that the word lento
means slow in speed. Candidates who opted for A, Presto could not realize
that presto means to perform or play musical piece in a fast speed. Presto
mostly used in playing or singing cheerful musical pieces. Candidates who
chose B, Allegro failed to understand that allegro also means fast and
instructs a musician to sing or play music in a high speed. Candidates who
opted for D, Legato failed to understand that legato means smooth.
Candidates who chose E, Vivace could not realize that vivace means lively
or quick and not slow tempo.

Item (vi) required the candidates to identify a string instrument that run
parallel to a neck. The correct response was D, zeze. The candidates who
chose this response had an adequate knowledge in the traditional musical
instruments and understood the instruments made by the strings that run
parallel. Candidates who chose A, kinubi could not differentiate zeze from
kinubi. Kinubi has a curved neck and strings that run from a neck to the
resonator. Candidates who opted for B, Bango were not aware of the
traditional musical instruments because Bango is an instrument of one or
two resonators with strings attached with an old tin pot or metal dish.
Candidates who opted for C, litungu did not understand that Litungu (lyre)
is made up of a big semicircular metal dish (kalai or Calabash) as a
resonator attached with several strings or wire from the stick joining the
two wooden frames to the centre of the resonator. Litungu has no neck.
Candidates who opted for E, Ndono failed to recognize the difference
which exists between Zeze and Ndono, just because both are stringed
instruments. However, Ndono is smaller than Zeze and it has only one
string. Zeze has more than one string.

Item (vii) required the candidates to identify the sixth degree of a Major
scale. The correct answer for this question was B, Sub-mediant. The
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candidates who opted for this response were conversant enough with the
sub-topic of music technical names of the scale degrees. The candidates
who opted for A, Diatonic failed to realize that diatonic is a scale that
contain five whole tones and two semitones as a major or minor scale. The
candidates who opted for C, Subdominant failed to understand that
subdominant is the 4™ degree of the scale. The candidates who opted for D,
Dominant were not aware that Dominant is the fifth degree of a major
scale. The candidates who opted for E Mediant were not aware that
mediant is the third degree of a scale.

Item (viii) required the candidates to identify the option which shows the
total value of the provided notes after being added together. The correct
response was C. A semibreve. The candidates who opted for the correct
answer were knowledgeable on the subtopic of Note value. The candidates
who chose A, A minim failed to understand that a minim has the value of
two crotchet-beats. Those who chose response B, two crotchets failed in
calculating the value of the given rhythm. The candidates who opted for D,
Three minims failed to understand that three minims have the value of six
crotchets that is less than the total of value of the given rhythm. The
candidates who opted for E, Quaver failed to understand that a quaver-note
has the half value of a crochet-beat.

In item (ix), the candidates were required to identify the form of an
interrupted cadence. The correct answer was E, (V — VI). The candidates
who chose the correct answer had an adequate knowledge on the types of
cadence used in music. Cadence is a sequence of two chords that indicate
the complete end of a musical phrase. The candidates who chose A, | — VI
lacked knowledge on the subtopic of cadences. The candidates who opted
for B, Il — VI were not aware with the types of cadence in Harmony
because there is no such kind of cadence in music theory. The candidates
who opted for C, 111 — VI could not realize that there is no cadence end with
the third to six chord. The candidates who chose D, IV — VI did not realize
that chord IV in music theory, thus cannot used at the end of a musical
phrase with chord VI but only with chord I.

In item (x) the candidates were required to identify the latter name existing
on the third line of a bass staff. The correct answer was B, D. The
candidates who chose this correct response understood that when using
Bass staff (F clef) a third line named D. The candidates who chose
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incorrect response had inadequate knowledge on the subtopic of letter-
names or pitch names. The candidates who opted for A, C were not aware
of bass clef staff because the third line of the staff according to the
succession of musical letter names is D not C. Note C is on the 2" space
from the bottom. The candidates who chose D F failed to understand that F
is on the fourth line of bass staff and not the third line. Those who opted for
E G did not realize that letter G is on the first line. Those who opted for C
E did not understand that letter E is on the third space of stave.

Item (xi) required the candidates to identify the name of a ternary form of
music which consists of three complimentary sentences. The correct answer
was A, A, B, A. The candidates who chose the correct response were
knowledgeable about musical forms and their types. Ternary form is a form
of music which is composed of two parts. Those who opted for B, A, B, C
were not conversant enough because the ternary form does not change the
third part instead it repeats the first part. Those who chose answer C, A, B,
D did not understand that in ternary form there is no fourth part. Therefore,
Part D is not included in the ternary form. The candidates who opted for
incorrect response D A, B, E could not realize that the additional Part E
does not exist in the form of ternary form. Those who chose E, A, B, G
failed to understand that G is the sixth part in musical form and it is not
included in ternary form.

Item (xii) required the candidates to identify a minor key that shares a key
signature of D major. The correct response was E, B minor. The candidates
who chose the correct answer were aware of the relative minor keys from
major keys. The candidates who opted for A, F minor failed to understand
that F minor shares a key with A flat major. Those who opted for B, E
minor did not understand that E minor shares a key with G major. Those
who opted for C, D minor failed to understand that D minor shares a key
signature with F major. The candidates who opted for D, C minor had
inadequate knowledge on major and minor keys because C minor shares a
key signature with E flat major.

Item (xiii) required the candidates to identify musical term which refers to
getting quicker. The correct answer was E, Accelerando. The candidates
who chose this correct response were knowledgeable on the musical terms
and signs used in music performance. Accelerando means gradually getting
quicker. Those who chose for A, Legato failed to understand that legato
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means smooth and not quick. Legato is a term that instructs the music
performer to play notes or sing in a smooth manner. Those who opted for
B, Ritardando could not understand that ritardando leads a musician to
increase the speed of music. The candidates who chose C, Diminuendo
were not conversant enough with the musical terms because diminuendo
leads a music performer to decrease voice gradually. Those who opted for
D, Marcato were not knowledgeable of the correct term because marcato
means strongly accented which not related to the speed of music.

Item (xiv) required the candidates to identify the position of note C on the
staff. The correct response was C, The second ledger line above the treble.
The candidates who chose C, The first ledger line above the treble had an
adequate knowledge on the musical staff and ledger line. Ledger lines
referred as short lines added below or above the musical staff. The
candidates who chose B, The first ledger line below the bass failed to
understand that on the first ledger line below the bass clef, there is note E.
The candidates who opted for D, The second ledger line above the bass had
inadequate knowledge on staves because on the second ledger line above
the bass clef there is note E. Those who chose E The second ledger line
below the treble were wrong because that is the position of note A.

Item (xv) required the candidates to identify the traditional instrument that
typically is from the membranophones group. The correct response was D
Mtuli. The candidates who chose this correct answer were aware that Mtuli
is a traditional drum made from hard wood with a neck in the middle. This
instrument is the one which covered with a membrane and played by both
hands. The candidates who chose A, Ndono did not understand that ndono
is a stringed musical instrument which is categorized in to chordophones.
The candidates who chose B, Enanga failed to understand that enanga is
also a stringed musical instrument, so it cannot be included in the category
of membranophones. Those who opted for C, Kayamba were not
conversant enough on the traditional musical instruments because kayamba
is an instrument that fall under idiophones category. In other words,
Kayamba is a shaker musical instrument that produces sound from its body.
Those who opted for E, Manyanga could not understand that manyanga is a
shaker instrument, which is also part of idiophones group.



2.1.2 Question 2: Matching Items

This question required the candidates to match the intervals in list A with
the correct interval names in list B. The question tested the candidate’s
knowledge about major intervals, as in the topic of Harmony. A total of
215 (100%) candidates opted for this question.

The analysis of candidate’s performance shows that 55 (25.6%) candidates
scored from 0.0 to 1.0 marks indicating poor performance. Further analysis
indicates that 83 (38.6%) candidates scored from 2.0 to 3.0 marks which is
an average performance and 77 (35.8%) scored from 4.0 to 5.0 marks
which is a good performance. The performance in this item categorized as
good because 74.4% of candidates were able to score from 2.0 to 5.0 marks
as illustrated in Figure 2.

Score
mo-1
02-3
m4-5

Figure 2: Distribution of Candidates’ Scores in Question 2

Item (i) required the candidates to identify the name with the interval from
C to E. the correct answer was D, Major 3". The candidates who chose the
correct answer had adequate knowledge on the intervals. An interval is a
distance or difference in pitch between two notes. The candidates who
chose A, minor 3" failed to differentiate major interval from minor interval,
because minor interval occurs when a major interval is flatted or reduced.
The candidates who opted for B, Augmented 4™ lacked knowledge on
counting interval to recognize the type of interval.



In item (ii), the candidates were required to identify a distance from E-flat-
note to B flat. The correct response for this interval was G, Perfect 5. The
candidates who matched this correctly response were knowledgeable on the
types of intervals. The correct answer E-flat-note to B flat means the 5"
distance, and when a distance or difference is the 4™ or 5" interval is called
perfect interval. If the 4™ or 5™ interval is flatted, is called diminished, if it
is raised it is called an augmented interval, but when it is not raised or
flatted then it is a perfect interval.

In item (iii), the candidates were required to identify a distance from F-note
to B-note. The correct answer was B, Augmented 4™. The candidates who
matched this item correctly understood that an augmented interval occur
when the 4™ 5™ interval is raised. The candidates who opted for the
incorrect response E, Major 6" had no knowledge on counting intervals.

Item (iv) required the candidates to identify a distance from note-G to E.
The correct response for this interval is E Major 6™. The candidates who
matched the correctly were knowledgeable and able to count the distance of
the required interval. Those who opted for other alternatives such as D,
Major 3" and G, Perfect 5 were not knowledgeable on the distance from
GtoE.

In item (v), the candidates were required to identify a distance from A to C.
The candidates who matched it with the correct response A, Minor 3 had
adequate knowledge about major and minor intervals. This is because in the
key of A major, note C is raised but in this case, note C is flatted.
Therefore, it is a minor interval. The candidates who matched it with the
incorrect response D, Major 3" failed to differentiate a minor interval from
a major interval. The candidates who opted for F, Minor 6" lacked
knowledge on intervals.

2.2 Section B: Short Answer Questions

2.2.1 Question 3: Rudiments of Music and Harmony

The question required the candidates to study the following melody which
was written on the bass stave and rewrite it into treble staff. A total of 215
(100%) candidates opted for this question.




The analysis of candidates’ performance shows that 98 (45.6%) candidates
scored from 0 to 2 marks indicating poor performance. Further analysis
indicates that 12 (5.6%) candidates scored from 3 to 6 marks which is an
average and 105 (48.8%) scored from 7 to 10 marks, which is a good
performance. The performance in this item categorized as average because
54.4% of candidates were able to score from 3 t010 marks as illustrated in
Figure 3.
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Figure 3: Distribution of Candidates’ Performance in Question 3

The candidates who scored from 0 to 4 marks lacked knowledge of melody
hence provided a series of irrelevant responses. For example, one candidate

wrote; | A\ l
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Others were rewriting music from one stave to another. For example, one
candidate wrote all notes on the second space of the stave as;
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Most of the candidates wrote irrelevant responses on transcribing melodies
from bass stave to the treble staff or vice versa. Extract 3.2 is a sample of
an irrelevant response from one of candidates.

3. Study the following melody which is written on the bass stave and then rewrite it in treble staff.

|
T — i o .
1 1 1 1 11 I
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v

Extract 3.1: A sample of the candidate’s poor responses in question 3

Extract 3.2 shows a poor response from a candidate who failed to rewrite a
melody from a bass stave to the treble staff.

A few candidates who scored from 3 to 6 marks demonstrate knowledge
and skills of rewriting melody in treble staff, but they could not exhaust all
the points. Extract 3.2 is a sample of a response from a candidate who had
average performance.

3. Study the following melody which is written on the bass stave and then rewrite it in treble staft,

T —— t m— ——
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Extract 3.2: A sample of the candidate’s average responses in question 3

Extract 3.2 shows a sample of response from a candidate who failed to
rewrite the whole melody in both bars, but rewrote correctly in bar 2 only.

The candidates who scored from 7 to 10 marks were able to rewrite music

from one clef to the new clef. Extract 3.3 is a sample of good response
from a candidate.
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2.2.2

3. Study the following melody which is written on the bass stave and then rewrite it in treble staff.

| .
e — i re——
: — i 17
7 { ) — ) y — I— —
T | A— N— ——g—A
1 1 1 1 1 1 1 ] il |
Py 1 1
¥ y A rY

%X L4 I 1 |

Extract 3.3: A sample of the candidate’s good responses in question 3

Extract 3.3 shows sample of a good response from a candidate who was
able to rewrite a melody from a bass stave to the treble staff correctly.

Question 4: Rudiments of Music (Modern Musical Instruments)

This question had five items (i-v) with different drawings of the modern
musical instruments. The candidates were required to describe the mode of
playing for each of the provided instruments in each item. A total of 215
(100%) candidates opted for this question.

The analysis of candidates’ performance shows that 178 (82.8%)
candidates scored from 0 to 2.5 marks indicating poor performance. Further
analysis indicates that 25 (11.6%) candidates scored from 3.0 to 6.0 marks
which is an average and 12 (5.6%) scored from 6.5 to 9.5 marks which is a
good performance. The performance in this question was poor as 17.2
percent of the students scored from 3 to 9 marks as illustrated in figure 4.
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Figure 4: Distribution of Candidates’ Performance in Question 4
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In item (i), the candidate were required to describe how to play a snare
drum/side drum. The correct response was a Percussion instrument. It is
played by being struck or beaten by two drumsticks. Most of the candidates
failed to give the correct mode of playing snare drum instead they provided
irrelevant responses. For example, one candidate wrote; drum the mode of
playing this instrument is to make dancing. Another candidate just wrote
the word Drum without any explanations.

Item (ii) required the candidate to identify the mode of playing a Violin
(Cello or Viola). The candidates who wrote the correct response shows that
violin is a stringed instrument, it produces sound by bowed a special
bowing stick. On the other hand, most of the candidate failed to realize that
those instruments are modern instruments. For this reason, the candidates
provided characteristics of the traditional musical instruments. For
example, one candidate wrote; it playing through browing a stricking.
Another candidate wrote, It played by shaking. Other candidate wrote,
made of gourds, other candidates responded as a symbol which represent of
music. Another candidates mentioned the types of traditional musical
instruments such as Kettle drum, Mtuli, Litungu, Chungu, Aerophones,
stringled and chordaphone .

In item (iii), the candidates were required to identify the mode of playing a
Bass drum (Big Drum). The correct answer was Bass drum is an instrument
which is played by being struck with a big soft hummer. The candidates
who provided correct response were knowledgeable on playing drums. The
candidates who gave incorrect responses were not conversant enough on
the mode of playing modern musical instruments. Other candidates left the
blank spaces and some candidates wrote incorrect answers. For example,
one candidate wrote; it can be played by being stacked with at school.
Another candidate wrote, This can playing in place where by group of
people dancing the same style. Another candidate responded as, this
instrument is called the beat but they played of group of people. Other
candidates responded as, this modern musical instrument playing at school
or gwaride.

Item (iv) required the candidate to identify the mode of playing a Grand
piano. The correct response was Grand piano is a stringed instrument that
its sound is produced by the vibration of stretched strings that are plucked
with keys when pressing them with fingers. Candidates who wrote the
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correct responses were familiar with this modern musical instrument. The
candidates who failed to provide correctly had insufficient knowledge on
on the subject matter. For example, some candidates mentioned the names
of musical instruments as their responses for this item. These included;
Zeze, marimba, Kayamba, Kettledrum, Litungu and Lipenenga. Other
candidate responded as; A percussion instrument. Another candidate wrote;
Wind nor melodic instrument. These responses show that these candidates
were not conversant enough on how to play modern musical instruments.

Item (v) required the candidate to identify the mode of playing Timpani
(Kettle Drum). The correct answer was Timpani/Kettle Drum is tuned
drum categorized in membranophones group. It is plucked by using one or
two sticks metal sticks. Candidates who described correctly the mode of
playing this instrument were aware knowledgeable on Timpani. The
candidates who failed to describe a way of playing this instrument lacked
knowledge on the mode of playing modern musical instruments like
Timpani some of their responses were: A person play when celebrate or
when promote his cultural. Another candidate wrote; this instrument is
called mtuli the play of stick and people and hands of people in order to get
a good merody. Others wrote, Used to the society and their beat is slowly.
Extract 4.1 shows a sample of a good response from a candidate.

4. Briefly describe the mode of playing the following modermn musical instruments,

S/ Modern Musical Instruments

Descriptions
Thir is Pllwin, Ly Toxing Yha thiay
and 'Hntm Laat inte the Wpred Twtfate:
ofF The Sium -
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onc Wsually fl.acn& ot tha naeck.

This ie F'w.-;ing by baoting it
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tulebogt moterial on gackh and,ar
when b

[* f N
This is la-_fing LY umlg fiﬂpdl
thet I:mEL 1ha nots an the pone
and Hhen produce Sounl ond malody.

This is playing L)r basting
Phre Mppei Tutfocs Wiing Lekila
nna t‘b‘ltl‘\l‘.ﬁ? e Yare uLum(l;t_

i)

(ii)

(iii)

(iv)

v}

Extract 4.1: A sample of the candidate’s good responses in question 4
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On the other hand, the analysis shows that 25 (11.6) candidates who scored
from 3 to 6 marks in this question had partial knowledge on the topic of
modern musical instruments. Extract 4.2 shows a sample of a response
from a script of a candidate.

4. Briefly describe the mode of playing the following modern musical instruments.

Descriptions
This ar membrane phones  prhah PWGQJxx.
:Sawcp by bealing whe with Jim cheks.
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Extract 4.2: A sample of the candidate’s average response in question 4

Extract 4.2 shows an average response from a candidate who failed to give
a clear description of playing modern musical instruments.

On the other hand, the candidates who scored from 0 to 2.5 marks had
inadequate knowledge on the topic of modern musical instruments. Extract
4.3 shows a sample of a poor response from a script of a candidate.
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2.2.3

4. Briefly describe the mode of playing the following modern musical instruments.

| SN Modern Musical Instruments Descriptions
kerte chww
iAptvson Pty when  C2lebate
land a\ev whe RSO NPSBUE W
he Celhure b - |
ZEZA
Per glas 282wk weed
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_ I:C‘ﬂ\\.i\rawn- |

(i)

| (i)
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i?z o p whan (Blebrode P
'Mi’\em we ollfﬁ Ce\emogj

(i)

Kp_\(r ‘oom.& |

Andalro Yop Poard gl e |
d—$?'::t>\’\ ated b educe Preegs

Tmtut\-\ o—ﬁ“lwmﬂ
|t o Qo wohen Ol
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Extract 4.2: A sample of the candidate’s poor response in question 4

Extract 4.2 shows a sample of a poor response from a candidate who failed
to describe the mode of playing the modern instruments.

Question 5: Rudiments of Music

The question required the candidates to transpose the tune into a major
second interval. A total of 215 (100%) candidates opted for this question.

The analysis of candidates’ performance shows that 154 (71.6%)
candidates scored from 0 to 2 marks indicating poor performance. Further
analysis indicates that 17 (61.5%) candidates scored from 3 to 6 marks
which is an average performance and 44 (20.5%) scored from 7 to 10
marks which is a good performance. The performance in this question was
poor because 28.4 percent of the students scored from 3.0 to 10.0 marks as
illustrated in figure 5.
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Figure 5: Distribution of Candidates’ Performance in Question 5

The analysis shows that some of the candidates who scored from 0 to 2
marks lacked knowledge on the subject matter, while others misconceived
the demand of the question. Most of the candidates failed to transcribe the
melodies from bass stave to the treble staff or vice versa. In addition, other
candidates wrote irrelevant responses, such as; |=

t—t ) e |
| S R (S S— —

m-i 1
[ |
— 1
1 +

Another candidate wrote; |#=

T

T
.

Some of the candidates in this question changed the key signature and
wrote the tune as it is in question paper. This shows that the candidates did
not have adequate knowledge about intervals and transposition. Some
candidates failed to transpose the tune to major second. For example, one
candidate wrote; the notes in a stave that had no clef and moved the tune
one octave higher. Another candidate could not rewrite the tune in the
interval in which transposed to rather changed the note values and note
position in the staff. Furthermore, some of the candidates failed to write the
tune in the correct position. For example, one candidate changed the clef
only and re-wrote the tune (copied the original tune). Other candidates
copied the tune and changed the time and key signature. These responses
show that the candidates misinterpreted the demand of the question and
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lacked knowledge of intervals and transposition. Extract 5.1 is a sample a
poor response from one of the candidates.

5. Transpose the following tune to major second.
4] I I

" A J— 1 | 1 1 1 1 | 1 I |=

Extract 5.1: A sample of the candidate’s poor responses in question 5

Extract 5.1 shows a sample of a poor response from a candidate who failed
to transpose the tune into a major second interval.

The analysis shows further that the candidates who scored from 3 to 6
marks had inadequate knowledge about intervals and transposition. For
example, one candidate failed to transpose the whole tune, but managed to
transpose some parts of the tune correctly. Most of the candidates
transposed the melody but changed the values and key signature, hence
failed to score high marks. Other candidates changed some parts of the
tune. For example, one candidate wrote the second bar first and the first bar
second. Some candidates changed the clef, time signature and wrote the
tune in reverse, while others could not transposed in the required interval.
Extract 5.2 is a sample of the response from a candidate who had an
average performance.

5. Transpose the following tune to major second.

] |

i e e e e
- “_._j—-_ - T ~ —
7 4} I 1
7 + 4 i —H
' S— it ) L — = —H

I (TIN
(

Extract 5.2: A sample of the candidate’s average responses in question 5
Extract 5.2 shows a sample of response from a candidate who managed to

transpose notes to the tune into a major second interval, but failed to write
the correct new key signature.
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The analysis indicates that the candidates who scored from 7 to 10 marks
managed to transpose the tune correctly. All notes arranged in their
respective position; the key signature remained the same and the time
signature as well as other signs used. This shows that these candidates
understood the question and had enough knowledge and ability of
transposing the given tune to major second. Extract 5.3 is a sample of a
good response from a candidate.

5. Transpose the following tune to major second.

===

Extract 5.3: A sample of the candidate’s good responses in question 5

Extract 5.3 shows a good responses from a candidate who managed to
transpose the tune from the given key to the major second interval.

Question 6: Recognition of Musical Intervals

The question had five items (i - v). The candidates were required to write
the upper-note to complete the intervals starting with the root-note. A total
of 215 (100%) candidates opted for this question.

The analysis of candidates’ performance shows that 188 (87.4%)
candidates scored from 0 to 2 marks indicating poor performance. Further
analysis indicates that 22 (10.3%) candidates scored from 4 to 6 marks
which is an average and 5 (2.3%) scored from 7 to 10 marks which is a
good performance. The performance in this question was poor because 18.6
percent of the candidates scored from 4 to 10 marks as illustrated in figure

6.
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Figure 6: Distribution of Candidates’ Performance in Question 6

In item (i), the candidates were required to add a semibreve note within a
stave to show a diminished fourth interval from the provided note F. The
correct position to this item, a semibreve-note added on to B-double flat-
note in the third line of the treble stave. Those candidates who failed to add
a semibreve onto B-double flat-note lacked knowledge on counting
intervals and using accidentals to discover the types of intervals. A
diminished fourth interval is an interval from the tonic-note (the first-note)
up to the fourth or fifth flatted (lowered) interval. The candidates who
wrote incorrect responses did not recognise the position to write B-double
flat-note on the third line of the treble stave.

Item (ii) required the candidates from the given note C to add a semibreve
note within a stave to show a minor six interval. The correct position to this
item, a semibreve-note was to be added on to A flat-note in the second
space of the treble stave. The candidates who wrote irrelevant responses
had inadequate knowledge on counting positions and writing musical
intervals. A minor interval occurs when a 2", 3 6" or 7" interval is
lowered by a semitone (half-tone).

In item (iii), the candidates were required to add a semibreve note within a
stave to indicate an augmented fifth interval from the provided note D. The
correct response was a semibreve-note to be added on to A sharp note on
the second space of the treble stave. The candidates who wrote incorrect
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answers were not conversant enough on identifying musical intervals. An
augmented interval occurs when a 4™ or 5" interval is raised by a semitone.
The candidates who wrote incorrect answer by adding a semibreve-note
into G line were not aware of the distance in counting intervals.

In item (iv), from the provided note F, the candidates were required to add
a semibreve note above the stave using ledger-lines to validate an octave
interval. The correct position to this item, a semibreve-note added on to the
upper F-note, over the second ledger line of the bass stave. The candidates
who wrote incorrect answers could not understand that, a musical octave is
a tone on the eight degree from the first note. The candidates who wrote
incorrect answer by adding a semibreve-note onto the first space of a bass
stave failed to identify the scale degrees provided from F note of F clef.

In item (v), from the provided note D, the candidates were required to add a
semibreve note within the stave add a semibreve-note to validate a major
seventh interval. The correct position to this item, a semibreve-note added
on C-sharp on the third line of the Alto stave. The candidates who wrote
incorrect answers failed to recognise the distance which exists from note D
up to note C-sharp. The candidates who wrote incorrect answer by adding a
semibreve-note onto the third space of an alto stave failed to understand
that it is a distance of an octave according to the Alto stave. Extract 6.1 is a
sample of a poor response from one of the candidates.

6. Write the upper-note to complete the following intervals starting with the root-note.

[§3] Within a stave add a semibreve-note to show a diminished fourth interval.

(i)

Giii)

(iv) Above the stave using ledger-line add a semibreve-note 1o validate an octave interval.
;E: B —

) Above the stave using ledger-line add a semibreve-nore to validate a major seventh
interval.

-

Extract 6.1: A sample of the candidate’s poor responses in question 6
21



Extract 6.1 shows a poor response from a candidate who failed to add a
semibreve notes to the correct intervals.

Further analysis shows that the candidates who scored from 4 to 6 marks
had sufficient knowledge about intervals. Extract 6.2 shows a sample of an
average performance from a candidate.

6. Write the upper-note to complete the following intervals starting with the root-note.

(1) Within a stave add a semibreve-note to show a diminished fourth interval.
— =
Po
] R » S —————

(ii) Within a stave add a semibreve-note to demonstrate a minor six interval,
g Fal
b
s
=

(iii)  Within a stave add a semibreve-note to establish an augmented fifth interval.

Fal
I
s
% B —
7o

(iv)  Above the stave using ledger-line add a segiibreve-note to validate an octave interval.

O o

F=—] -

(v) Above the stave using ledger-line add a semibreve-note to validate a major seventh
interval.

B E

=" -=—

Extract 6.2: A sample of the candidate’s average responses in question 6

Extract 6.2 shows an average response from a candidate who managed to
add semibreve-notes on the intervals correctly for items (ii), (iii), and (iv)
and failed for item (i) and (v).

The candidates who scored from 8 to 10 marks in this question were

knowledgeable and able to add semibreve-notes to the correct intervals, as
shown in extract 6.3.
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2.2.5

6. Write the upper-note to complete the following intervals starting with the root-note.

(1) Within a stave add a semibreve-note to show a diminished fourth interval.

(ii) Within a stave add a semibreve-note to demonstrate a minor six interval.

p———— ) ¥
e S
(iii))  Within a stave add a semibreve-note to establish an augmented fifth interval.
)
Hes
J (&3

(iv)  Above the stave using ledger-line add a sem:breve note to validate an octave interval.

—-—9—1-—6———

(v)  Above the stave using ledger-line add a semibreve-note to validate a major seventh
interval.

—_ i |

- <

Extract 6.3: A sample of the candidate’s good responses in question 6

Extract 6.3 shows a good response from a candidate who managed to add
semibreve-notes on the intervals correctly for all the items.

Question 7: Rudiments of Music (Tonic solfa)

The question required the candidates to translate the tunes of the tonic solfa
into the staff notation and rewrite them by using treble clef into key G
major. A total of 214 (99.5%) candidates opted for this question.

The analysis of candidates’ performance shows that 128 (59.8%)
candidates scored from 0 to 2.5 marks indicating poor performance. Further
analysis indicates that 46 (22.9%) candidates scored from 3 to 6 marks
which is an average and 37 (2.3%) scored from 6.5 to 10 marks which is a
good performance. The performance in this question was poor because 12.6
percent of the candidates scored from 4 to 10 marks as illustrated in figure
1.
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Figure 7: Distribution of Candidates’ Performance in Question 7

The analysis shows that the candidates who scored from 0 to 2.5 marks
failed to transcribe the tonic solfa to staff notation. This is due to lack of
knowledge and skills on the staff notation. Some of the candidates left the
question unattempt, while others wrote the wrong melody without a clef at
the beginning of the staff. Moreover, other candidates wrote irrelevant
responses. For example, one of the candidates wrote;

7. Translate the tunes of the following staff notations and rewrite them by using treble clef into key
G major.

G §| m.r:d.ly|s;.d:d|r:d.r|d:- |I

<4 4 ol

A

-1
=
1 A—
b §

o

Another candidate failed to translate the tune hence wrote dots as follows;

G % |d.r:m I s:flm:d I r:- |d:—|—:—||

qt;\:,

drm e £ m 4 v d v mF
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Others wrote only semibreve-notes with same other incorrect solfa notation
as shown in the sample of response from one of the candidates.

Translate the tunes of the following staff notations and rewrite them by using treble clef into key

G major.

"1 mrlh s, rdr|d- |

= S4d T dr 4

M T N L

Furthermore, the analysis shows that most of the candidates failed to
translate the tunes due to lack of knowledge on solfa natation into staff

notation, as shown in extract 7.1

7. Translate the tunes of the following staff notations and rewrite them by using treble clef into key

G major.
(@) il m.r:d.ly|s..d:d|r:d.r|d:- || e

Mdl sad  d g
(i) i|d.r:m|s:f|m:d|r:-|d:—|—:—]| '

tM{ s§ ,Mll;f

Eh

i - . 4

I T T L
T y — | - 1 2 i

Lt

Extract 7.1: A sample of the candidate’s poor responses in question 7

Extract 7.1 shows a poor response from a candidate who failed to translate
the tonic solfa into staff notation.

The candidates who scored from 6.5 to 10 marks in this question were
knowledgeable thus translate the solfa into the staff notation correctly. The
following is an example of the candidate who translated solfa to staff

notation:
25



7. Translate the tunes of the following staff notations and rewrite them by using treble clef into key
G major.

0 il m.r:d.ly[s,.d:d|r:d.r|d:- ll

.Y o Poam——
4 L | 1 b — L i | i) 1 L

(ii) ild.r:mls:flm:dlr:-Id:-|‘5‘||

| e | 1

ook
bt
i
=

Extract 7.3: A sample of the candidate’s good responses in question 7

Extract 7.3 shows good responses from a candidate who translated tonic
solfa to staff notation correctly.

2.3 Section C: Essay Questions

2.3.1 Question 8: Traditional Musical Instruments

The question required the candidates to describe the history of the
traditional musical instruments of Litungu, Zeze, Njuga, and Chungu na
Kiti as used by different ethnic groups in Tanzania. A total of 61(28.4%)
candidates opted for this question.

The analysis of the candidates’ performance shows that 53 (86.9%)
candidates scored from 0.0 to 4.0 marks indicating a poor performance.
Further analysis indicates that 8 (13.1%) candidates scored from 4.5 to 9.0
marks which is an average performance. The performance in this item
categorised as poor because 100% scored from 0.0 to 9.0 marks. This
analysis illustrated in figure 8.
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Figure 8: Distribution of Candidates’ Performance in Question 8

The candidates who performed poorly in this question failed to explain the
history of traditional musical instruments used by different ethnic groups in
Tanzania as the question demanded. For example, one of the candidates
wrote; litungu; this are the instruments which can present the cultural of
nyakyusa tribal who are put in the ceremony and people was dance.
Another candidate wrote; litungu is the traditional musical instruments,
which are used by different group, it produce sound by the beat. Other
candidate wrote; this is the types of traditional to use are personal to
product are new sound because are this zeze used to applied this zeze.
Another candidate wrote; zeze is non-melodic stringed instrument. These
responses show that the candidates had insufficient knowledge about the
subject matter. Most of the candidates wrote irrelevant responses. For
example, one of the candidates wrote; njuga also this is traditional musical
instrument, which found in Kilimanjaro, Morogoro, Dodoma and other
parts of Tanzania, which produce sound by string, also group in
chordophones. Another candidate in this category wrote; this one of
traditional music instrument used by post man or old man to produce the
sound. However, some of the candidates wrote musical bands of Tanzania
instead of history traditional music instruments. For example, one of the
candidates wrote: malaika band will be used musical sound, Jazz band it
means musical instruments like zeze, jahazi band it means that jahazi will
be used musical instruments in order to help music to sng a song, ya moto
band it means ya moto band will be used a musical instrument in order to
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develop our country and society. Another candidate explained as; this are
instrument who can present the traditional of Sukuma and can put in the
head or in the hand then was dance. Other candidate responded as; Chungu
na kiti are the traditional musical instruments which produce sound when
the people playing music. Furthermore, other candidates defined the
traditional music instead of elaborating each of the given musical
instruments. For example, one of the candidates wrote: traditional music; is
the group of people ways of life, the following traditional musical
instruments found in Tanzania by provide of new culture, this is the
traditional of music to the society has been of music in the society from one
place to another place of new culture. Another candidate wrote; traditional
music is the arrangement of pallarel line in which are note. In the following
are the history of traditional musical of instruments, which sound, is
vibrations. Extract 8.1 is a sample of a poor response from the script of one
of the candidates.
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Extract 8.1: A sample of the candidate’s poor response in question 8

28



Extract 8:1 shows poor responses from a candidate who failed to provide
the history of the traditional musical instruments as used by different ethnic
groups in Tanzania.

The candidates who scored from 4.5 to 9 marks demonstrated a relatively
adequate knowledge of the subject matter and had understood the demands
of the question. However, they could not score higher marks because some
of the candidates in this category concentrate more in the mode of
production, instead of history of traditional music instruments. In addition,
some of the candidate mentioned the traditional instruments only or drew
those instruments without providing any explanation.
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Extract 8.2: A sample of the candidate’s average responses in question 8
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2.3.2

Extract 8.2 shows a sample of a response from a candidate who managed to
give partial explanation on the history of traditional musical instruments by
providing some correct points.

Question 9: Application of Music in the Society

The question required the candidates to explain six uses of music in
Tanzania with examples. A total of 214 (99.5%) candidates opted for this
question.

The analysis of the candidates’ performance shows that 52 (24.3%)
candidates scored from 0 to 4 marks indicating a poor performance. Further
analysis indicates that 149 (69.6%) candidates scored from 4.5 to 9.5 marks
which is an average performance and 13 (6.1%) scored from 10 to 12
marks which is a good performance. The performance in this question was
generally good because 75.9% scored between 4.5 to 12.5 marks.

The candidates who scored from O to 4 marks demonstrated their
inadequate knowledge of the subject matter. For example, one candidate
provided the definitions instead of the uses of music. The response from
this candidate was; Music is the voice which it can suppose people to dance
or singing, music is the situation of voice or human mouth to upper in
order to sing Another candidate defined; music is aney sound in arenj in
good order by using menrod hamoni and rithim. The following to music as
park and porcel of the society has been used differently bosel on the society
need and function. Moreover, some of the candidates provided irrelevant
answers. For example, one candidate wrote; music is arrangement of sound
who plotes the theme the following are uses of music in Tanzania society it
reduce loads the music it practice the loads to be creay and to simplify the
loods in shorty time that will cover to the simplify the loads.... Other
candidates wrote; music reduce crimes, in music songs provide the crimes
that to encourage people to sing song and to undergo the crimes in the
society. Another candidates wrote; Music is used to create the society in the
Tanzania country it can be contributed and based on the society and help
their people to know the society of the traditional. These responses show
that the candidates had inadequate knowledge about the uses of music in
Tanzania. Extract 9.1 is a sample of a poor response from one of the
candidates.
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Extract 9.1: a sample of the candidate’s poor responses in question 9

Extract 9.1 shows a sample of a poor responses from a candidate who
provided irrelevant response.

Analysis of the candidates’ responses shows that the candidates who scored
from 4.5 to 9.5 marks in this question had enough knowledge about the
uses of music in Tanzanian society. These candidates have ideas of the
topic and were able to identify two to three points out of six points was
required. However, they could not provide good explanation. Therefore,
they could not score higher marks because of poor explanation, but also
some of the candidates gave attention to the types of music instead of its
uses. Extract 9.2 shows a sample of an average performance from a
candidate.
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Extract 9.2: A sample of the candidate’s average responses in question 9

Extract 9.2 represents a sample of average response from one of a
candidate who was able to identify four out of six points, but failed to
provide clear explanation.

The analysis shows that the candidates who scored from 10 to 12 marks
were conversant with the uses of music in the society of Tanzania. They
were able to mention the points and give clear explanation. For example,
one of the candidates wrote. It used in wedding ceremonies, it is used for
entertainment and it used to educate the society, to bring people together. It
used to get enjoyment of the people, to encourage people to work hard. It

33



used to send message, it expressing cultures, improving life standard of the
people, used in ritual ceremonies, it used in political campaigns. Extract
9.3 shows a sample of a good response from a candidate.
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Extract 9.3: A sample of the candidate’s good responses in question 9
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2.3.3

Extract 9.3 shows a good response from a candidate who managed to
provide an explanation about the uses of music in Tanzanian society
correctly.

Question 10: Applied Music

The question required the candidates to explain six different methods to be
used to teach an African child various musical tradition. A total of 154
(71.6%) candidates opted for this question.

The analysis of the candidates’ performance shows that 79 (51.3%)
candidates scored from 0 to 4 marks indicating a poor performance. Further
analysis indicates that 65 (42.2%) candidates scored from 4.5 to 9.5 marks
which is an average performance and 10 (6.5%) scored from 10 to 12
marks which is a good performance. The performance in this question is
generally good because 48.7% scored from 4.5 to 12.0 marks.

60 -

51.3

L
=
1

422

.
o
|

[
=}
1

6.5

| .

45-95 10 -12
Scores

Percentage of Candidates
= =

Figure 10: Distribution of Candidates’ Performance in Question 10

The candidates who performed poor in this question were not aware of the
different methods used in teaching traditional music to African child. Some
candidates mentioned few methods while others wrote irrelevant responses,
as shown in extract 10.1.

35



0. V\WLTJ((Q;Q Trc&dk’qu are the M (¢ Wl Jacig
’w T ored and Eabor 1o wod (o pun? The
l\omnc. arg o ma]ﬂ'\ccof 1o be wed fotoach an
’?CLL&n /fnlt‘g’ vanyus nnqu(cJ ga&qﬂ?(‘,

\*: U fing 0 [qustac s he ‘qu:’mr L lomport@nk
po 2hildVarzer bocausg L\JQ%"T‘O loacly poopl,
¢ 1o _ouc cparlu Uro . ’
£ UJing 4 O\'CinO [ @ Jugjgft mJJic a pIano
N vred aacQ Lmrv QQ{).r,LQ o Un&arﬂwé)a pact OF
r?\ GO0 Ctn(g dyeiv LJQ_P
bfu-—ﬂi the diums vred L@, ccbals
a r\S Lo Thaie mL\aGor_r tho dnwns 1 tenpacrudt
ord Lo vod fodearh an Aftican ol v
csTeed beedbone. |
&amaum o @.qraru\n to o \)focy ta to
(i on'r‘H:n(rm (LLU:U UOTQYUJ' JCQCCU/JO o bareu
oM Imo-tptn am; Pr‘ol;[ﬂrn ln'ﬁ&ul ng ~

N0 AonouQ Zlm\(CrQn T MUJ( (QU ﬁ’Ta(QJL
nnO \(\dn /Lo (yra U-sbgmdss’l v T {’cc{c\,\‘li
CnC | L rMO I \h\fh’\amﬁn"w*

ZQZQ 7Q'Zg A8 ({)x\h {CQ(L lﬁéfb WO Cl(DUl(PJ
Wil 1y ’3270 Gmcﬁ ZoP8 L O 202 \ILMth
D tg o AHJ&QF\ L[ml(o \)’ar(ﬁ‘UL\}:\ At < |
JCrchQ&fu\f N Quc SOy |

(@ntlurcon: beontngr m Oﬁhcﬁccq A ((&
’(‘P"c\&.’h’i)f‘f arg @\cmgO, (leﬁ)‘ndﬂQ' fcgtDT\LHOnQ\ 'S
UnnJ, Marienb 6, Mamang, [i’ruvfgu/. NM{uga Liganoaca

H\(gl Oh\ﬁﬂ ‘

Extract 10.1: A sample of the candidate’s poor responses in question 10

Extract 10.1 shows a sample of a poor response from a candidate who
failed to explain different methods used in teaching traditional music to
African child.
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Some of the candidates who scored from 4.5 to 9.5 marks were able to
explain items but failed to exhaust all the points hence scored average
marks. Extract 10.2 shows a sample of responses from one of the candidate.
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Extract 10.2: A sample of the candidate’s average responses in guestion 10

Extract 10.2 shows average response from a candidate who failed to
provide clear explanation of different methods used in teaching traditional
music to African child.
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The candidates who performed from 10 to 12 marks in this question were
able to explain the different methods used in teaching traditional music to
African child. These candidates demonstrated good mastering of the
content. The following is the example from a candidate who responded
correctly.
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Extract 10.3: A sample of the candidate’s good responses in question 10
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Extract 10.3 shows a good response from a candidate who scored 10 out of
10 marks. The candidate was able to explain the different methods used in
teaching traditional music to African child clearly and correctly.

3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of the candidates’ performance in each topic for the CSEE 2019
Music subject indicates that two topics had good performance, three topics had
an average performance and five topics had poor performance. The topics
which had good performance were; Application of music in the society
(question 9 with 75,9 percent) and Harmony (question 2 with 74.4 percent).
Likewise, the topics in which the candidates had an average performance were;
Musical terms, Musical sign (question 1) and Rudiments of music and harmony
(question 3 with 54.4 percent). The topics with poor candidates’ performance
were; Modern musical instruments (17.2%) for question 4, Rudiments of music
(28.4%) for question 5, Recognition of musical intervals (18.9%) for question
6, Rudiments of Music (Tonic Solfa) (12.6%) and Traditional Musical
Instruments (13.1%) for question 8. The general performance across topics
summarized in the Appendix.

4.0 CONCLUSION

The general performance of the candidates in Music subject in 2019 was poor
because most of the candidates scored below 30 marks. The analysis of the
candidates who had average or good performance shows that those candidates
had good knowledge on the subject matter in general. They also managed to
interpret the questions accordingly and provided the correct answers. The
candidates who performed poorly failed to understand questions due to
inadequate knowledge on the topics and content tested in the examination.

5.0 RECOMMENDATIONS

In order to improve the performance of the candidates in the future
examination, it is it recommended that:

(a) Subject teachers should help students to prepare well for musical
examinations, especially on the interpretation of questions’ demands in
order to answer the questions accordingly.
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(b) Subject teachers should guide and encourage students to participate in
music activities, such as singing simple melodies, playing musical
instruments correctly, singing solfa and spelling intervals so that they
become more familiar with different types of music questions. By doing so,
students will improve their knowledge and skills in music both in theory
and in practice.

(c) Students on their groups should get time for practicing musical works; such
as playing music instruments, singing different simple and short songs,
tonic solfa and intervals, in order to get prepared for music examinations.
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Summary of Candidates’ Performance Per Topic

Appendix

S/N

Topic

Number
of

Questions

Percentage of
students who

scored 30
percent and
above

Remarks

3 Rudiments of | 1 54.4 Average
Music and
Harmony
4 Applied music 1 48.7 Average
5 Musical Terms, | 1 42.8 Average
Musical Sign
Reading and
writing ~ music
accidentals
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